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$X $Load (MW)
KP=[ =
3 110
751:
%Un Inc NL cost Min Max Startup Cost (MBtu)
pdataO=[. 9.9 220 S0 200 400 :
2 10.1 30 15 60 150
1 3 10.8 60 15 30 105
‘ i a 11.6 20 5 40 hilip
i i S 12.14 34 5 25 0):
I—while(l)
i]'h pdata=pdatal; v
k=0
i=0;
u=[]:
load=0;
k = input ("Enter K (or 0 for break):");
o if k==C
break;
~ end
i = input ("Enter I:™):
L = input ("Enter L:");
u= SL(SL=—i,2:5):
load=KP (KP=k, 2
pdata (u=—7, ..) =1000;
pdata (u=—73J,2)=C;
pdata(u=72,3)=3; i i |
Pl = oprtimvar('pl’, "I ,pdata(1,4), 'UpperBound’ ,pdata(il,5)):
p2 = optimvar('p2'," ,pdata(2,4), 'UppsrSound’ ,pdata(2,;5)) :
p3 = optimvar('p3’','L ,pdata(3,4), 'UpperBound’ ,pdata (2 ,u)),
p4 = optimvar('p<','L ,pdata (s, 4),'Upp—*8:unﬁ' |
pS = optimvar('pz"', 'l ind' ,pdata (5,4), 'UpperBound’ ,pdata(5,5) )/
prob = optimproblem(’'Ckt Tive',

end

prob.Constraints.cl =

problem = prob2struct (pzob) ;

[sol,fval,exitflag,cutput] = linprog(problem) ;

fprincf("unics F=");
disp(sol’'):
fprintE("PCOST (%4, %
pcost=pdata(:
disp(pcost)
fprintf("ne E=%
newu=u-SL(SL==L,_:-)
newu (newu==-_)=";
acost=pdata(:,-) '*newu’;
newfcost=pcost#’_
fprintf{ s -',nawrcost)
oldfcost=input ("o tzr =1
fcosc—ﬁewrc0=t+aldfcost,
fprincE (" FL

kd ) =", K, 4) ;
+Z) '*sol4sum(pdata(:,2)) ;

.44sCOoST*. . <,

load:

2 ="k, 1,L)

“,k,l,L,rcoutﬂ}

(pdata(l,Zz)*pl)+(pdata(2,2)*p2)+(pdata(3,2)*p3) +(pdata (<,
= p1+p2+p3+p§§p5

Z) *p4) +(pdata (s,

2) *p5) +sum(pdaca(:,3)), "



>» LPAllocation

Enter K (or 0 for break):1

Enter 1120

Enter L:16

Optimal solution found.

unitsP= 200 50 0 0 O
PCOST(1,20)= 2785
newFCOST(K=1,1=20,L=16)=8.008000e+03
Enter old foost=0
FCOST(K=1,1=20,L=16)=8.008000e+03

Enter K (or 0 for break):1

Enter 1:26 il
Enter L:16 i i
Optimal solution found. ! it
unitsP= 200 35 15 0 O
PCOST(1,26)= 2.8555e+03 i _
newFCOST(K=1,1=26,1=16)=8.352400e+03
Enter old fcost=0 |
FCOST(K=1,1=26,L.=16)=8.352400e+03

_ Enter K (or O for break):1

_ Enter I:30 '

_ EnterL:16

~ Optimal solution found.

~ unitsP= 200 30 15 5 O
PCOST(1,30)= 2.9045e+03

~ newFCOST(K=1,1=30,L=16)=8.489600e+03
Enter old fcost=0
FCOST(K=1,1=30,L=16)=8.489600e+03

Enter K (or O for break):2

Enter 1:30

Enter L:20

Optimal solution found.

unitsP= 200 60 50 10 O
PCOST(2,30)= 3645
newFCOST(K=2,1=30,L=20)=10353
Enter old fcost=8008
FCOST(K=2,1=30,L=20)=18361

Enter K (or O for break):2

Enter 1:31

Enter L:20

Optimal solution found.

unitsP= 200 60 50 5 5
PCOST(2,31)= 3.6802e+03
newFCOST(K=2,I1=31,L=20)=1.045156e+04
Enter old fcost=8008
FCOST(K=2,1=31,L=20)=1.845956e+04

Enter K (or O for break):3
Enter 1:16

Enter L:30

Optimal solution found.
unitsP= 110 0 0 0 O




CO5T(3,16)= 1309
e FCOST(K=1,1=16,1=30)=3.665200103
Enter old feost=18361
FCOST(K=3,1=16,1=30)=2.202620e+04

Enter K (or O for break):3
Enter 1:20

Enter L:26

Optimal solution found.
unitsP= 95 15 0 0 O
PCOST(3,20)= 1392 =
newFCOST(K=3,1=20,L=26)=3.897600e+0
Enter old fcost=18361 =
FCOST(K=3,1=20,L=26)=2.225860e+04

Enter K (or O for break):3
Enter 1:26

Enter L:30

Optimal solution found.
unitsP= 80 15 15 0 0O
PCOST(3,26)= 1.4655e+03
newFCOST(K=3,1=26,L.=30)=4.103400e+03
Enter old fcost=18361
FCOST(K=3,1=26,L=30)=2.246440e+04

Enter K (or O for break):4

Enter I:16

Enter L:16

Optimal solution found.

unitsP= 75 0 0 0 O

PCOST(4,16)= 962.5000
newFCOST(K=4,1=16,L=16)=2695 :
Enter old fcost=22026.2 —
FCOST(K=4,I= 16,L= 15)_2 4721 0e+o4' ———

Enter 1:20
Enter L:16 =
Optimal solution found.

unitsP= 60 15 0 0 o:—=_'_-

PCOST(4, 20)— 1.0455¢+03

Enter old fcost= 22026 2 .
FCOST(K=4,1=20,L=16)=2. 516360&+0 =

Enter K (or O for break):0
2> '
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) PARGostion

Ervter X {or O for break):1

-ryter 130

EFnter L:16

Optimal solution found.

unfisiP= 200 30 15 S 0O
PCOST(1,30)= 2.9045e403
newFCOST(K=1,1=30,L=16)=8.489600e 103
Enter old fcost=0
FCOST(K=1,1=30,L=16)=8.489600e+03

Enter K (or O for break):2

Enter 1:30

Enter L:30

Optimal solution found.

unitsP= 200 60 50 10 0O
PCOST(2,30)= 3645
newFCOST(K=2,1=30,L=30)=10206
Enter old fcost=8489.6
FCOST(K=2,1=30,L=30)=1.869560e+04

Enter K (or O for break):2

Enter 1:31

Enter L:30

Optimal solution found.

unitsP= 200 60 S0 5 5
PCOST(2,31)= 3.6802e+03
newFCOST(K=2,1=31,L=30)=1.030456e+04
Enter old fcost=8489.6

— FCOST(K=2,1=31,1=30)=1.879416e+04

Enter K (or O for break):3

Enter [:120

Enter L:30

Optimal solution found.

unitsP= 95 15 0 0 O
PCOST(3,20)= 1392
newFCOST(K=3,1=20,L=30)=3.897600e+03
Enter old fcost=18695.6
FCOST(K=3,1=20,1=30)=2.259320e+04

Enter K (or O for break):3
Enter 1:126

Enter L:30

Optimal solution found.
unitsP= 80 15 15 0 O
PCOST(3,26)= 1.4655e+03
newFCOST(K=3,1=26,L=30)=4,103400e+03
Enter old fcost=18695.6
FCOST(K=3,1=26,L=30)=22799
Enter K (or O for break):3
Enter 1:30

Enter L:30

Optimal solution found.
unitsP= 75 15 15 5




PCOST(3,30)= 1.5155e403
newFCOST(K=3,1=30,1 =30)=4.243400e 103
Enter old foost=18695.6
FCOST(K=3,1230,1=30)=22939

Enter K (or 0 for break):d

Enter 1120

Enter L:20

Optimal solution found.

witsP= 60 1S 0 0 0
POOST(4,20)= 1.0455e+03
newFCOST(K=4,1220,1=20)=2.927400e+03
Enter old foost=22593.2
FCOST(X=4,1=20,1=20)=2.552060e+04

Enter K (or O for break):0
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’ & G:\(l_MSc_KU\Te!ml\Power_Syslem_Opernlinn\Tnkéﬂiju ther?lt\ilj\sL_'_develupement_4_3.m

LDITOR PUEBLISH
ErRer = [Q) Find Files
|
" (5] Compare *

New Open Save
w - ~ = Print Wi

' FILE
- clear
- clc
e n_.3.
e ns= (2"n) 1

Pmax [600:.& 400
- [Clforizons | | | el f B
= u= demmalToBmaryVector(l n) il b R e T

W o U ol W e
|

= - SL_Array(i+1,1)=i; e = e e I -
10 — SL_ Array(|+12n+1) u; ! ol R =
11 = SL_Array(i+1,n+2)= u*(Pmax) L e
12 = —=gng et ' = —
12— SL = sortrows(SL_ Array,n+2 descend) | = ——~
14 — SL(;,1)=[ns:-1:0J; ‘ ‘ ' :
15 — [Hfori=1:n
16 — '[ t(i)=("U" +num25tr(i)),
17— “end
1B = SL_T=array2table(SL, VauabieNames J['State”,t,"Pmax{(MW)"]);
35— disp(SL_T);
20

lUTF-8
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LPAllocation_4_3 il ) Enter l-{ohﬂ for break):4

Enter K (or O for break):1 o Enter 1:4

Enter 117 Enter b7

Enter L:0 units P= D 200.0000 200.0000
units P= 100.0000 100.0000 100.0000 ! | PCOST(a4)= 3.1600e+03
PCOST(1,7)= 2.5550e403 || newFCOST(K=4,i=4,1=7)=3.160000e+03
newFCOST(K=1,127,120)=2.555000e+03 | .l'.u' | h .| Enter old fcost=1.693000e+04

Enter old fcost=0 | | ||| lt;omlu 1=4,1=7)=2.009000e+04
FCOST(K=1,1=7,1=0)=2.555000e+03 |II |.. """'

|I|‘ ‘| | (1L
(e
| M
| |
it
II !
i A
it
l I
|
I

units P= 0 100.0000 ZDD[IJDD

i ' ||
Enter K (or O for break):1 | .| |
i
PCOST(1,4)= 2.2850e+03 %
I

Enter 1:4
| l:"!f
I

Enter L:0
“
|
|

newFCOST(K=1,1=4,1=0)=2.285000e+

Enter old fmst:ﬂ i |
FCOST(K=1,1=4,1=0)=2. 235000:»03 ' |;|

Enter K (or O for break):2 ii
Enter 1:7 '
Enter L:4

Enter K (or 0 for break) 2
Enterdid |
Enter L:4 i i |
units P= 0 300.0000 200.0000
PCOST(2,4)= 4 08508+03' il
newFCOST/(K 4.085000e
Enter old fcost=2.285000e+03
FCOST(K=2,1=4, L—4)-5.3700009+03

Enter K (or O for break):3
Enter |:7

Enter L:4

units P= 500.0000 400.0000 200.0000
PCOST(3,7)= 1.0560e+04
newFCOST(K=3,1=7,L=4)=1,056000a+04
Enter old fcost=6.370000e+03
FCOST(K=3,1=7,L=4)=1.693000e+04

Enter K (or O for break):4
Enter 117

Enter L:7

units P= 100.0000 100.0000 200.0000
PCOST(4,7)= 3.3050e+03
newFCOST(K=4,1=7,L=7)=3.305000¢+03
Enter old fcost=1.693000e+04
FCOST(K=4,1=7,L=7)=2.023500¢+04
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FRTE BUBLISH
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R = E?ﬂsmdﬁm e JLM\ &
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W \)pi N Save

- 4 hm \ulll |;|:1

Hear
<7 clc
o M n 3

et AR R

|
"U
‘m
'?'4

[
I_l
et
D

—_fc)rl Dns_
= —=n= dec:lmalToBmary._p'“ (s b i
SL _Array(i+1,1)=i;
SL Array(|+1 2 nj+__',1)'; e
1 —SL Array(l+1 n+2) u*(P_max)
s = —end -
13— SL —-sortrows(SL Array,l
153 = SL( )= [ns:-1:0;
15 — [lfori=1n S
16 — ‘ t(iy=("U" +num2str(i)
17— ~end
18 — SL_T= array2table(SL Val
55 o disp(SL_ T)

! -'2"-91'35‘3;«3:1&):- i

}
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g sl
¢ Load (MW)

cime interval
100
2 1000
3 1600
A 400];
¢un Inc NL cost Min Max Startup Cost (MBtu)
pdataO=[1 0 2200 220 600 2400
r 2 0 1500 350 800 3000
3 0 1000 150 600 3400]~

- £ n a b (o min max Startup Cost
¢ datal0 =[1 2200 25 0.025 220 600 2400
r et 2 1500 11 0.02 350 800 3000
s | 3 1000 20 0.015 150 600 | 3400] ;
i while (1)
1 pdata=pdata0;
2 datal=datall;
3 k=0;
4 i=0;
5 u=[1:
7 load=0;
¥ k = input ("Enter K (or 0 for break):");
8 if k==0
9 break;
0 end
1 i = input ("Enter I:"):
2 L = input("Enter L:"):
3 B= SL(SLAs, 1y=—i, 2:n+1};
4 load=KP (KP==k, 2);
3 pdata (u==0, 2)=inf;
€ pdata (u==0,4)=0;
7 pdata (u==0,3)=0;
19 PD=load;
O datal (u==0, 4)=inf;
11 datal (u==0,5)=0;
2 %pdata (u==0, 3)=0;
3 datal(u==0,2)=0; %%22?
4 D=PD;
= d=datal;
{ b=d(:, 3);
nal text file

Lo lenath : 2,249 lines: 79 Ln:4
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end

datal (u==0,2)=0; %%?22?
D=PD;
d=datal;
b=d(:,3)4
c=d(:,4);
Pl=d(:,5);
Ph=d (:,6);
dP=D;
x=max (b); % assume lambda
whlle abs (dP) >0. 00001
P=(x-b)./c/2;
P=min (P, Ph) ;
P=max (P, P1) ;
dp= D—sum(P). |
: x—x+dP*2/(sum(1 /c))
end i
fprlntf("unlts P—")
disp(P"): : Al
C=d(:,2)+bi*P+c AP *Pr&CoSTS | |

C{~(C>0))—

fprlntf("PCOST(id fd)~. k;iy;w
pcost=sum(C) ; 1 it
disp(pcost); '

fprlntf("newFCOST(K=fd I—Qd L_id)‘" e, 3 L),

newu=u-SL (SL(:,1)==L,2: n+1),‘
newu (newu==-1) =07 LG
scost=pdata/(: ,6) "*newu';
newfcost—pcost*dt*1+scostll
fprintf ("% zd\n",newfcost):
oldfcost=input ("Enter old fcost=");
fcost=newfcost+oldfcost;

fprlntf("FCOST(K—od 1=%d, L=%d)=%d\n", k,1, L, fcost); "

dl.:p ( Oy e e e i e e e e e S T R ST

break;



>> LPAllocation_4_4

Enter K (or O for break):1

Enter I:1

Enter L:0

unitsP= 400 0 O
PCOST(1,1)= 16200
newFCOST(K=1,1=1,L=0)=67200
Enter old fcost=0
FCOST(K=1,1=1,1=0}=67200

Enter K (or O for break):1

Enter 1:2

Enter L:0

unitsP= 0 0 400
PCOST(1,2)= 11400
newFCOST(K=1,1=2,1=0)=49000
Enter old fcost=0
FCOST(K=1,1=2,L=0)=49000

Enter K (or O for break):1

Enter 1:3

Enter L:0

unitsP= 0 400 O
PCOST(1,3)= 9100
newFCOST(K=1,1=3,L=0)=39400
Enter old fcost=0

Enter K (or O for break):1

Enter 1:4

Enter L:0

units P= 220.0000 0 180.0000
PCOST(1,4)= 1.3996e+04
newFCOST{K=1,1=4,L=0)=6.178400e+04
Enter old fcost=0
FCOST(K=1,1=4,L=0)=6.178400e+04

Enter K (or O for break):2

Enter 1:4

Enter L:3

units P= 400.0000 0 600.0000
PCOST(2,4)= 3.4600e+04
newFCOST(K=2,1=4,L=3)=1.442000e+05
Enter old fcost=39400
FCOST(K=2,l=4,L=3)=1.836000e+05

Enter K (or O for break):2

Enter I:5

Enter L:3

units P= 288.8889 711.1111 0
PCOST(2,5)= 3.0944e+04
newFCOST(K=2,1=5,L=3)=1.261778e+05
Enter old fcost=39400
FCOST(K=2,1=5,L=3)=1.655778c+05

Enter K {or O for break):2

eourTes

Enter I:6

Enter L:3

units P= 0 557.1429 4428571

PCOST(2,6)= 2.6636e+04

newFCOST(K=2,I=6,L=3)=1.099429&+05

Enter old fcost=39400
J=6,1=3F1.493429e+05

Enter K (or O for break):2

Enter I:7

Enter L:3

units P= 220.0000 462.8571 317.1429
PCOST(2,7)= 2.863Be+04
newFCOST(K=2,1=7,L=3)=1.203509e+05
Enter old fcost=39400
FCOST(K=2,1=7,1=3)=1.597509e+05

Enter K (or O for break):3

Enter 1.7

Enter L:6

units P= 288.8889 711.1111 600.0000
PCOST(3,7)= 4.9344e+04
newFCOST(K=3,1=7,1=6)=1.997778e+05
Enter old fcost=1.493429e+05

r 51 ll

Enter K (or O for break):4

Enter I:1

Enter L:7

unitsP= 400 0 ©

PCOST(4,1)= 16200
newFCOST(K=4,1=1,1=7)=64800
Enter old fcost=3.491207e+05
FCOST(K=4,1=1,1=7)=4,139207e+05

Enter K (or O for break):4

Enter 1:2

Enter L:7

unitsP= 0 0 400

PCOST(4,2)= 11400
newFCOST{K=4,1=2,1=7)=45600
Enter old fcost=3.491207e+05
FCas 1j53.947207e+05




